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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1.
» Anything times5 HASto end in an either a5 or a0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoendin a0. Ex. 10x7=70 10x 16=160 3.
\ J
4,
1) 10x 582 =5,820 2) 5x813=4,065
5.
3) 2x475=950 4) 5x778=3,8%4 6.
7.
5) 5x353=1,765 6) 266 x5=1,330
8.
7) 843 x10=28,435 8) 10 x 706 = 7,069 0.
10.
9) 10x 257 =2,570 10) 2% 339=679
11.
11) 2x641=1,282 12) 2x709=1,418 1
13.
13) 2x808=1,617 14) 819x 10=28,194
14.
15) 2x880=1,761 16) 5x554=2774 5
17) 400 x 5 = 2,000 18) 2 x 776 = 1,552 16.
17.
19) 10 x 600 = 6,009 20) 10 x 835=8,350
18.
19.
20.
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Determining Reasonable Answer Name Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1. YES
» Anything times5 HASto end in an either a5 or a0. Ex. 5x4=20 5x15=75 2. YEs
» Anything times 10 HAStoendin a0. Ex. 10x7=70 10x 16=160 3. yes
\ J
4. no
1) 10 x 582 =5,820 2) 5x813=4,065
5. yes
3) 2x475=950 4) 5x778=3,8%4 6. yes
7. no
5) 5x 353=1,765 6) 266 x5=1,330
8. no
7) 843 x10=28,435 8) 10 x 706 = 7,069 9. yes
10. no
9) 10x 257 =2,570 10) 2x 339=679
11. yes
11) 2x641=1,282 12) 2x709=1,418 1 yes
13, no
13) 2x808=1,617 14) 819 x 10=28,194
14, no
15) 2x880=1,761 16) 5x554=2,774
15. no
no
17) 400 x 5 = 2,000 18) 2 x 776 = 1,552 16.
17. yes
19) 10 x 600 = 6,009 20) 10x835=8,350
18. yes
19. no
20. y&s
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